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' DEMAND AND SUPPLY
EEREMANE - R

i A. Demond is the relationship between the price of a

: €. Cchanges in price also affect the demand for related

INTRODUCTION
ECONOMICS

A, Economics is the study of how limited resources are
allocated,
B. There are two main branches of economics:

1. Microeconomics studies how individuals (firms or
households) make choices and are influenced by
economic forces,

2. Macroeconomics looks at the economy as a whale,
focusing on issues such as growth, unemployment,
inflation, and business cyches. |

il ECONOMIC REASONING !

A. Given limited resources (scorcity), there ane opportu-

nity costs for every choice.

B. Theappartunity cost of an action is the benefit missed
by not choosing the nexi-Dest alternative. An action
should be chosen only if the expected benefit is greater
than the opportunity cost.

. Individuals attempt to maximize utility by allocating |

and spending their resources according to their prefer-

ENCES.

individual consumption and production options are

expanded through the market, where goods and ser-

wices are exchanged for mutual benefit.

N

o

good and the quantity of it that consumers ane willing

R0 bury at that price.

Demand curve: A graphical representation of the

law of demand, It slopes downward (for most goods)

because, all else constant, the quantity demanded rises.

(falts) a5 the price falls (nises).

1. A change in price is represented by mowvements

, along the demand curve; demand is still the same,

but the quantity demanded changes as the price
changes

2. The demand curve will shift to the left or right
when anything other than the price of the good has
changed

3. The market demand curve is the horizontal sum
of all individual dernand curves.

poods.

1. Substitwtes: Goods that can be used in place of
another good. If the price of a good rises (falls),
the demand for its substitute goods will rise (Fal).
Exomple: Coke™ and Pepsi®.

2. Complements: Goods thal are normally used in
conjunction with another good. If the price of a good
rises (falls), the demand for its complement goods
will fall {rise),

Example: Left shoes and right shoes.
D. The relationship between demand and price is caused
by two main effects:

1. Income effect: A change in price affects owerall
purchase power.

1. Substitution effect: A change in price affects not
only the absolute price of the good but also the
relative price of the good, leading 1o changes in the
purchasing of substitute goods

E. The effects are different for different types of goods:

1. Mormal goods: When income rises (falls), demand
increases (decreases). Most goods are normal.

2. Inferior goods: When income rises (falls), demand
decreases (increases), because better goods can be
afforded,

Exarmple: Generic-label foods.

3. Giffen goods: Quantity demanded rises (falls) as
the price rises (falls). Giffen goods are inferior goods
with strong income effects.

Example: Pololoes during the kish Pahalo Famine,

4. Veblen goods (or snob goods): Quantity demand-
ed rises (falls) as price rises (falls) because the
goods are purchased to demonstrate one’s wealth
o others, Also known 85 CoNSpICwous consumption.
Example: Designer-lobel clothing,

SUPPLY

A. Supply is the relationship between the price of a good
and the quantity of it that firms are willing to produce
at that price.

B. Supply curve: A graphical representation of the law
of supply. it slopes upward because guantity supplied
rises as price rises, with other things constant.

1. A change in price is represented by movements
along the supply curve; supply is still the same,
but the guantity supplied changes as the price
changes,

2. The supply curve will shift to the left or right when
anything other than the price of the good has
changed. Such factors include: changes in prices
of inputs used in production, changes in technol-
ogy, changes in supplier expectations about future
prices, changes in taxes and subsidies.

3. The market supply curve is the horizontal sum of
all individual supply curves,

MARKET EQUILIBRILM

A, A market economy allows the rise and fall of prices
to guide actions in the economy. This “invisible hand™
pricing mechanism coordinates individuals® decisions
50 that prices will always adjust to achieve morket
equilibrium and scarce resources will be best alio-
cabed.

1. When the quantity supplied exceeds the quantity
demanded (surplus), prices tend to fall.

2. When the quantity demanded exceeds the quantity
supplied (shortage), prices tend to rise.

3. When the guantity demanded equals the quantity
supplied, prices have no tendency to change and
the market is in equilibrium.

MARKET EQLNLIBRIUM

QUANTITY

FMGURE 1 At P, marked surplus. Al P, morket
equilibrivm. Al P, markel ‘_.n’.\l.,'lrlr_rg{L

CONSUMER BEHAVIOR
PREFERENCES

A. Utility: Measures individual preferences; greater pref-

erence indicates a higher level of utility.

Marginal utility: Additional utility gained from con-

suming an additional good. Marginal utility decreases

as more and more of a good is consumed.

Marginal benefit: Willingness to pay to consume one

more of a good. Consumers will buy the quantity of &

good such that marginal benedit is equal to the price of
the good.

an indifferance curve ilustrates all possible combing-

tions of two goods that provide an individual with equal

levels of utility.

1. indifference curves have a negative slope and they
are Conyex.

2. The slope of the indifference curve illustrates an
individual's preference for one good over another
(how much of one good one would be willing to give
up in order to receive more of the other good).

3. Any point on a higher indifference curve ks prefer-
abie to any point on a lower indifference curve.

BUDGET CONSTRAINT

A. The budget constraint shows what an individual can
afford and is detarmined by the individual's income and
the prices ol goods.

B.

C.

B. The constraint ks allocated between two goods or
between one good and all other goods.

C. The budget constraint will move outward (inward) for
an increase (decrease) in income, The new constraint
will show the new combinations of goods that are
affordable to the individual.

An increase (decrease) in thi: price of a good will pivot
the curve inward (outward), Less (more) of that good
can be bought but total iINCome is constant.

UTILITY MAXIMIZATION

A. The budget constraint intersects many indifference
curves but the best combination of goods ks on the
highest possible indifference curve, whene the Dudget
constraint is tangent to the indifference curve.

B. When utility Is maodmized, the rotio of the two goods’
marginal utilities will equal the ratio of the two goods’
prices.

UTILITY MAXIMIZATION

GOOD A

FIGURE 2 Point A is within the budge! constraint but is
on a lower indifference curve than point B, which is ithe
| ufilily mauimization podnl. Poind C i on @ more desir-

able indifference curve but is nof o possible cholce
becouse it is oufside the budget consiroint

'ELASTICITY

| A. Elosticity measures the sensitivity between two eco-
| nomic variables.

| B, Measuring elasticities is important because it allows
| individuals, firms, and societies to estimate the impacts
that economic decisions will have.

DEMAND ELASTICITY

PRICE ELASTICITY OF DEMAND

&, The price elasticity of demand (PED) measures how
much a change in the price of 8 2o0d affects the quan-
tity demanded.

PED = (% change in quantity demanded) / (% change in
price).

1. i the PED is greater than 1, the demand is elastic.

2. Hthe PED is less than 1, the demand is inelastic.

3. Hthe PED equals 1, the demand is unit elastic.
4
5

B.

. Elasticity determings the shape of the demand curve.

. The PED is actually negative because the demand
curve shopes downward, but economists report it
as an absolute value.

A high (low) PED means that the quantity demanded

of a good changes by a lot (a litthe) when the price

changes.

1. if there are substitutes for a product, the PED is
higher. For goods that are completely interchange-
able with others, such as two different brands of
white rice, the demand curve is horizontal and the
PED is perfectly elastic

2. | the product is a necassity or has few substitutes,
such as water, the PED is lower. For absolute neces-
sithes with no substitutes, such as insulin for a dia-
betic, the demand curve is vertical and the PED is
perfectly inglastic

3. Long-run elasticity is higher than short-run elas-
ticity because individuals are able to make mone
adjustments in the kong run.

Because there are two different opposite effects on

revenue when the price changes (guantity also chang-

&5, the PED also determines how changes in price will

atfect revenue.




PRICE ELASTICITY OF DEMAMND
D

FIGURE 3 For the same
change in price, the quan-
tity demanded for the low-
elasticily demand curve
mowes only from Point A fo
Podnt B, while the quaniifty
demanded for the high-
elasticity demand curve
mowes a much larger
distance, from Poinf C fo
Point D

AB c D a

T MAXIMIZATION

FMGURE 4 Profif is maxi-
mired where the slope of
the tofal revenue curve
[margingl revenuel eguals
the slope of the total cost
curve [marginal cost].

1. i demand is abastic, the quantity demanded will rise (fall) by a greater percent
than the price falls (rises). Revenue will increase (decreasa),

2. if demand is inelastic, the quantity demanded will rise (fall) by a lesser percent
than the price falls (rises). Revenue will decrease (increasa).

3. if demand is unit elastic, the quantity demanded will rise (fall) by the same per-
cent that the price falls (rises), Revenuee will Stay the same,

A. The income elasticity of demand (IED) measures how much a change in income |

affects the quantity demanded.
{ B. IED = (% change in quantity demanded) / (% change in income).
i €. IEDis reported as a negative numbses for inferior goods because a change in income
i CAlses an opposite change in demand.

SUPPLY ELASTICITY

| PRICE ELASTICITY OF SUPPLY
i A The price elasticity of supply (PES) measures how much a change in the price of a
7 good affects the guantity supplied. PES = (% change in quantity supplied) / (% change
in price).
1. The PES is positive because the supply curve slopes upward,
2. Like the PED, supply can be elastic, perfectly elastic, ihelastic, perfectly inelastic,
oF unit-elastic.
B. Long-run elasticity ks higher than short-run elasticity because firms are abbe to make |
more adjustments to production in the long run.

FIRM BEHAVIOR |
PERFECT COMPETITION |
|
|

. A, The following conditions are true for a perfectly compaetitive market:
i 1. A product sobd by multipse firms is essentially the some.
2. There i5 a lorge number of firms ond consumers so none can individually influ-
ence the market.
3. There are few or no barriars to entry into the market.
4. Each firm is a price taker, meaning that the price they charge is determined by
thi market.
5. Conswmers and firms have perfect information, meaning that they are aware of
all other products and firms in the markit.

- PROFIT
| A. Firms produce Roods and services with the assumed goal of maximizing profits.
: B. Each firm has a supply function (supply curve) Blustrating how misch will be pro-
] duced by the firm at various price levels in order to maximize profits.
C. Profits: Total revenue minus total costs,
1. Economic profits: Total costs include opportunity costs.
2. Accounting profits: Total costs exclude opportunity costs.
REVEMUE
A. Total revenue (TR): (Price per unit) bimes (quantity sold).
B. Averoge revenue [AR]: Total revenue divided by the number of go0ds sold
€. Marginal revenue [MR): Revenue received for the last good sold.
D. Because markets. are competitive, average and marginal revenues for each firm
should be edqual to the market price of the good.

COSTS
A. Total costs: variable costs plus fixed costs.
1. Totol vorioble costs (TVC): Costs that are dependent wpon the quantity pro-
duced (such as labor).
2. Totol fixed costs (TFC): Costs that are independent of the quantity produced
(such as kand).
. B. Averoge total, varioble, and fixed costs (ATC, AVC, and AFC): total, variable, or
fixed costs divided by the number of goods produced.
€. Marginal cost (MC): The cost to make one additional unit
D. Sunk costs: Costs that cannot be recovered.

A. The production funchion is shown as a curve and illustrates how much can be pro-
duced for different amounts of inputs.

B. Two inputs are used in the production of goods, capital (K) and laber (L): Q=1{K, L.

€. Averoge product [AP): Total product / quantity produced.

D. Marginal product (MP): The change in cutput due 10 a unit increase in input.

E. To maximize profits, the quantity produced by & firm should be such that MC is equal
to MR, In & competithve market, this means that MR and MC will equal price.

) SHORT BUN

| A, Short run: The time frame in which fixed costs are not changeable.
B. In the short run, K is usually fixed, 5o the production function will reflect how the
quantity produced changes as the labor input changes.
| €. Retwns to labor:
| 1. Increasing returns o lobor: MP increases and MC decreases as more labor is
added

2. Decreasing retums 1o lobor: MP oecreases and MC INCreases a5 mone labor is
aoded.

D. Relationships between the short run cost curves:

1. When ATC and AVC are falling (rising), MC is lower (higher). This means that the
MC curve will intersect the ATC and AVC curves at their lowest points.

2. As the quantity produced increases, fixed costs become a smaller percentage of
total costs. This means that the distance between the ATC and AVC curves will get
smaller as more ks produced,

3. Because firms produce at a quantity where marginal cost equals market price, it
is possible to represent a fiom’s profit at any given price on the cost curves.

ILLUSTRATION O

T CURVES

Figure 5 Profit is the diffier-
ence betwean fofal revenue
[amouni produced x mar-
ket price] and total costs
[amouni produced x aver-
age lokal cost),

E. If price were set to where the MC curve and ATC curve intersect, the firm would
break even.

F. If price wene set below the ATC curve, the firm would have a loss.

G. If price s Set at or below the minimum point of the AVC curve, the firm should shut

dowmn,

LONG RUMN

A. Long run: the amount of time where fixed costs are able to change.

B. Allinputs are variable in the long run, S0 there ane many possible combinations of K
and L. Plotting these combinations on a graph results in an isoquant. There are dif-
ferent levels of Isoquants for different levels of production,

1. marginal rate of technical substitution [MRTS): Along the isoguant, it is pos-
sible to exchange one input for another and remain at the same output level. The
exchange rate is thi MATS, which is equal to change in K divided by change in L.

€. The firm's cost of production is based upon the prices of its inputs. The firm always
tries to manimize total costs for a given level of production. All possible combinations
of K and L for each cost level are illustrated in isocost lines.

0. Cost is minimized at the point where the isoquant is tangent 1o the isocost line.
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LOMNG-RUN PROFIT MAXIMIZATION

FIGURE & Point A would
not allow the firm fo
produce af the selected
level (isoquani). Point C is
al the oppropriate level of
production, but it is nof the
loweast possible cost for that
level. Cost is minimized af
Paoint B, where the isoguant
is tangant o the isocost
line.
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Diseconamies of scale (decreasing retums fo scale): Long-run ATC increases as et YV T YN S

output increases.

A

B.
output increases.

€. Constant returns to scole: Long-run ATC stays the same as cutput increases.

D.

Most firms begin their growth with economies of scale, then have a period of constant -

| A, The for the labor marik :
option has its own ATC. Combined, the minimum points of the various ATCS will create supply curve for ¢ Bt shows how much labor workers or households |

returns to scale, then reach a point where they have diseconomies of scake.
E. Minimum efficient scale: Point of lowest production where ATC is at @ minimum.
F. In the long-run, a firm ks able to expand, which will shift its ATC out. Each production

the long nun ATC.

LONG-RUN MINIMIZATION

ATC,

FGURE 7 The minimum
peint on the kong run
ATC is the long-run cost
minimizing point of
production

A. For individual firms, demand is set at a constant price because they cannot affect it. | F. Market labor supply, on the other hand, is a straight, upward sloping line. I!lsnul

from the firm’s perspective is flat,

B. when the market is in equilibrium, the market price is equal to the profit-maximiz-
ing price of the individual firm. Profits are 2ero 50 no firms ane leaving or entering the

market.

1. I thee rarket demand incredses (decreases), the price will rise (fall) in the short temm,

2. The higher (lower) price will increase (decrease) profits for the firm.

3 !Wmfﬂaﬁmﬂ]ﬂbﬂhmmmmwmﬂeﬂlﬁﬁmé

increasing (decreasing) the market supply,

4. This will push the price back down (Up) to where profits for the firm are zero and

the market is in equilibrium.

LONG-RUN MARKET EQUILIBRIUM

Qy Qp Q
FIRM MARKET

FIRM MARKET

2 EQUILIBRILM

'LABOR MARKET

| A Labor s treated like any other good in the market, except demand comes from the

firm instead of the consumer,

i B. The price a firm pays for labor is known as the woge. In addition to a wage, workers |

also commaonty receive fringe banefits such as insurance and vacation fime.
1. Reol woge: Wage adjusted for inflation.

EDEMANU |

A- The demand curve for the labor market shows how much labor firms will buy at each |

Wage.

B. Firms must determine how much labor is needed for a profit-maximizing level of

production.

€. Marginal revenue product [MRP): Revenue increase resulting from the purchase of |

an additional wnit of labor. i
1. The firm maximizes profits by purchasing additional labor until the MRP is equal to |
the market wage. I
2. If the costs of any factors necessary to produce a good change, the MIRP will be
affected and the amount of labor demanded by the firm will also change. i

Curve,

E IIdammditmm:[decmm]fmamdmnwtlwwpeormmu,E

the demand for that type of labor will also increase (decrease).

will provide at each wage. i
B. There are two alternatives for each household's time: lelsure and working ot
home. ]

i MMNMMWMSMMEmNMMaImmm.Mm:

two effects of a wage change, which work in opposite directions:

1. Substitution etfect: if the marginal benefit of leisure or working at home is higher |
than the market wage, the household should choose either lelsure of working at |
home, This means that as the wage rises (falls), households are more (less) lkely
to choose the labor market. g

2. Income effect: As the wage rises (falls), households are less (more) likely to
spend more time in labor market. With a higher (lower) wage, they can work less
(more) to make the same income.

D. The relative suﬁlgﬂlsum'mrtmmuﬁslllmeﬁecuwmnﬂ\emm

of the household's labor supply curve

1. If the substitution effect ks stronger, the curve will be upward sloping.

2. If the income effect is stronger, the curve will be downward sloping.

3. If the substitution and income effects are equal, the curve will be vertical.

E. Most people have a backward-bending labor supply curve, which is upward sloping |

for low wages, vertical or nearty vertical at higher wages, and bends backward wlm
a downward slope for the highest wages.

backward-bending because, &s a whole, memmmmaﬂrmmhw
paying jolis, ;

BACKWARD-BENDING LABOR SUPPLY

l ummmmmwmmrmubomemW
rabe and quantity in the market when they are equal.

' B. Theramzmmlmmﬂummcammmmdllmnm

equilibrium:

1. Income bax: Workers pay a tax on their income, and it affects the mm\tuftlme
they are willing 1o work.

2. Minimum wage: The government sets in the market a minimum wage, wml;h
firms are forced to pay.

o W the minimum wage is lower than the market equilibrium wage, m-enme-'eh
no impact because firms will pay the equilibrium wage.

5. W the minimum wage is higher than the market equilibriem wage, labor sup-
plied will b higher than labor demanded, and some workers will be unable mﬂnﬂ
jobs,

3. Discrimination: Firms may choose to hire or set wages based on factors that are -
not relabed to productivity, such as race, age, or gender. Nonprofit mmm
decisions are inefficient.

4, Unions: By bargaining with firms for higher wages, unions decrease demand lor
labor. Some workers will then move to nonunion firms, which can competa with |
lower costs bicause thiry pay lower wages. However, union firms often hweqther
benefits that offset the higher cost of labor, such as lower turnover.




PUBLIC WELFARE

INCOME INEQUALITY

A, The closer individual incomes are, the more equal the distribution. The more varied
individual incomes are, the more unequal the distribution.
B. There are a few ways to measure how equal income distribution is:

1. Income segmeants: Determine how one market group relates 1o another by com-
paring the percentage of total income (the sum of all incomes) held by each group.

2. Lorenz curve: Shows the income distribution based on the cumulative percent-
ages of income eamed by percentage of the population. The curve is compared to
a perfectly equal distribution (a straight line).

3. Gini coefficlent: Shows income distribution as a value between 1 (perfectly un-
equal) and O (perfectly equal). It is calculated by dividing the area batween the
perfectly equal distribution and the Lorenz curve by the total area between the
perfectly equal and perfectly uneéqual distribution lines.

GOVERNMENT INTERVENTION IN THE MARKET '

i A, Often governments create programs to change the income distribution.

: 1. Subsidies: A low-income group recsives money (or wouchers) for specified goods.

2. Progressive taxes: Rich people are taxed at higher rates than poor people, Some
of the money ks then used to create programs to help the poor.

3. Welfare: Low-income families receive cash and decide what goods they need,

4. Unemployment benefits: Monetary benefits for those unable to find work,

5. Price ceiling: To protect the poor, a product's highest possible price is set, 50 the
jprice is bower than equilibrium and more will be demanded than supplied,

&. Price floor: To protect producers, a product’s lowest possible price is set, so the
price is higher than equilibrium and more will be supplied than demanded.

- MARKET INEFFICIENCY
i

A. Pareto efficiency: In an efficient market, there are no possible trades that will make
one party better off without making another party worse off
B. A pareto efficient market reguires:
1. Every producer of a good should have the same marginal costs.
2. For sach item produced, marginal cost should equal marginal benedit.
3. all consumers should receive the same marginal benefit from the same good.
C. In & competitive market, it is assumed that the market equilibrium is pareto efficient.

DEADWEIGHT LOSS

A. Deoadweight loss is a cost to sockety caused by BOVErnment programs, extemalities,
manopalies, of ather market inefficiencies. Policy-makers must weight the benefits
of each gowernment program against its costs,

DEADWEIGHT LOSS FROM TAKES

PRICE e supply

FIGURE 10 5ales fax raisas
the marginal cost of pro-
ducing the goods being
taued, shifting the supply
curve up by the omount

of the fax. The equilibrium
price rises less than the
amaount of the tax, o0 even
though the rectangular
part indicaled goes o the
government, there is siill o
deadweight loss

B. I the level of production in @ market is inefficient, thene will be a deadweight loss to
thir sociaty of the producer and consumer surplus.

OTHER BARRIERS TO EFFICIENCY

i A. Self-interest: Economics often assumes that individuals always act in thedr seff-inter.

: est, but some peopie ane altruistic and derive pleasure from helping others.

. B. Monrafional: Economics assumes that people behave rationally, but realistically, all

| the requirements of the economic model will not be met when making decisions.,

. €. Sunk costs: Sunk costs should not be considered in decision-making, but most

people conssier them Decause they feel as though something is being lost. Money

: makes people act in ways that are inconsistent with the economic model

. D. Uncertainty: Economics assumes there is perfect information in the market, but this
is ranely the case, and choloes must often be made with Emited information.

E. Asymmatric information: Different people have access to different information
about the market,

F. Moral hazard: Peophe are less careful if they have insurance,

G. Adverse selection: People who have insurance have the highest risks in the population.

PUBLIC GDODS AND EXTERNALITIES

PUBLIC GOODS
A. Public goods have two distinct properties and one attendant problem:
1. Monrivalry: One person’s increased consumption of the good does not decrease
the amount of the good availlable to others.,
2. Monexcludability: it is not possible o keep some people from consuming the

3. Free-rider problem: A person cannot be kept from consuming the good even if
they don’t contribute 1o the costs (example: people who don't pay their taxes still
benefit from national defense).

EXTERNALITIES

A. Megative axternalitias occur when the costs of producing of consuming a good
affect those who are not imvolved (example: pollution).

1. Production level is higher than efficient because the marginal private cost, which
thix firm uses to make the production decision, is lower than the marginal social
cost, which s the actual cost as it affects society.

2. Firms produce 0o much and create a deadweight loss for society. Government
usually imervenas to make sure not 1o much of the good is produced,

B. Positive externolities occur when the benefits of producing or consuming a good
affect those who are not involved (example: a safer neighborhood from one house-
hold's purchase of private security),

1. Consumption is lower than efficient because the marginal private benefit, which
CONsSuMmers use to make the consumption decision, is lower than the marginal
social benefit, which is the actual cost a5 it affects society.

2. Consurmers buy too littke and create a deadweight loss for society. Government
usually intervenes to make sure enough of the good is produced.

IMPERFECT COMPETITION

A. Oligopoly: Small numbser of firms, some barriers to entry, unique products.
1. Duopoly is a special oligopoly with only two firms producing & good.

B. Oligopolies are inefficient because they can create monopoly-like markets through
collusion

1. Explicit collusion: Firms openty work together to make pricing or production decisions.

2. Tacit collusion: Firms implicitly work together to make pricing or production decsions.

3. Cortel: A combination of firms in the same market that work together to make
pricing or production decisions.

4, Collusion is ilegal in the United States.

MONOPOLY

A, Monopoly: One firm, extreme bammiers to entry, unique product.

B. Monopolistic competition: Large number of firms, low barriers to entry, unique
products.

C. There are several possible reasons for 8 monopoly 0 Do

1. Exclusive control: Only one firm has access to the inputs needed 1o make the
product.

2. Natural monopoly: Because of economies of scale, the market may be best
served by having only one firm because production costs increase when there are
maore firms,

3. Patents and licensas: iInventions are patented so that others can't produce the
same thing, and licenses are given that Bmit the use of 8 particular resource or
area.

Undike a competitive firm, a monopoly’s MR does not equal the price of the market.

Thiry dre two Separate values at amy given price level.

For a monopoly, MC = market supply.

Because there is no market competition, a monopoly can maintain profit levets by

controlling supply at the level where MC = MR, thus controlling the price.

mm o

MOMNOPOLY PROFIT MAXIMIZATION

AGURE 1 The minimum
poind an the long-run
ATC is the long-run cosf
mlm'mlz.ing- point of
production

G. M the firm remains a monopaly, it can continue to make profits indefinitely.

H. Monopolies sometimes lose money in the short term, usually when they have up-front
research of patent costs to incur.

L As with a competitive firm, a monopolist should shut down if AVC is larger than the
price.

J.  Efficiency is bost with a monopoly because the consumer loses the surplus that would
occur in perfect competition. The producer (monopoly) 2ains a part of what would
have been the consumer Surplus. This remainder becomes deadweight loss.

GOVERNMENT REGULATION

A, Most governments in capitalist countries set policies and regulations to prevent
the occurrence of monopolies or any type of collusion that would be harmful to
compatition.

B. In the United States, these policies are called anti-trust policies. The major antitrust
laws in the United States inchude:

1. Sherman Anti-Trust Act (1890): Made price fixing and attempting to monopolize
illegal.

2, Clayton Anti-Trust Act [1994): Tried to keep monopolies from being created
through mergers.

3. Federol Trade Commission [FTC) Act (1994): Set up the FTC to enforce the
Sherman and Clayton acts.
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